Please open the attached excel file for the example.

Assume I am valuing the cash flows of a simple company with contracts 'a' through 'f' that have different varying cash flows over 10 years.  

Probability of default for each contract a-f in any given year = 2.50%.  Once there is a default, the cash flows cease and there is no ability to recover future cash flows.  Defaults are not correlated.

What is the expected value of cash flows for each year?  How do I model this?






Do we need to assume a normal distribution?







What happens if I increase the number of contracts?







What if two of the contracts had some correlation of defaults?  Three contracts?  Assume 25% correlation.

What is the expected value?  How do I model this?







Thank you!!!

[image: image1.emf]Contracts 1 2 3 4 5 6 7 8 9 10

a 10.00 $      10.20 $      10.40 $      10.61 $      10.82 $      11.04 $      11.26 $      11.49 $      11.72 $      11.95 $     

b 8.00 $        8.00 $        8.00 $        8.00 $        8.00 $        8.00 $        8.00 $        8.00 $        8.00 $        8.00 $       

c 20.00 $      20.00 $      20.00 $      20.00 $      20.00 $      20.00 $      20.00 $      20.00 $      20.00 $      20.00 $     

d 12.00 $      12.60 $      13.23 $      13.89 $      14.59 $      15.32 $      16.08 $      16.89 $      17.73 $      18.62 $     

e 16.00 $      16.00 $      16.00 $      16.00 $      16.00 $      16.00 $      16.00 $      16.00 $      16.00 $      16.00 $     

f 10.00 $      10.00 $      10.00 $      10.00 $      10.00 $      10.00 $      10.00 $      10.00 $      10.00 $      10.00 $     

Total 76.00 $      76.80 $      77.63 $      78.50 $      79.41 $      80.36 $      81.34 $      82.37 $      83.45 $      84.57 $     

Less expected defaults ? ? ? ? ? ? ? ? ? ?

P weighted cash flows 76.00 $      76.80 $      77.63 $      78.50 $      79.41 $      80.36 $      81.34 $      82.37 $      83.45 $      84.57 $     

Discount rate 10%

NPV $487.34

NPV w/defaults $487.34

Years


